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a— K s FEik | FER (kg) %8 (M) Bl Pl | B PE (BAL)
1 30100 | 7TV Z A 23 497 22 22 22 | BN 234
Y3122 | =KiR 61 2,938 54 43 43| BN 614
31100 |H3 15 1, 080 1, 080 1, 080 1,080 | &M 17—
31100 H3E 20 648 540 540 108 | BA 21
| 33810 | HAFHE 410 32 32| 11BN 1836
Y3015 |7 X B 346 22 22 13| BW 205
32600 FH 648 32 32 32BN 203
131700 F Xy 123 4, 698 864 324 108 | BP9 134 — 2
31800 [1F 9 NAE 41 13, 247 70 70 54 | BH 2075
31950 H#AE 3 1,188 108 108 108 | B 1148
31900 Ha & 17 6, 793 756 324 108 | BN 17kg
136800 | HoX 1S 13 8,640 702 702 648 | BN 13kg
34400 | b=k 28 7,560 | 270 270 270 BN 28kg
34460 (S =L F L 2 756 76 76 761 BN 1073y 7
34270 | Ry F—= 8 3,132 86 86 70| BN 40K
35210 |+ T v & SRGH 4 1,134 324 324 324 | B 4kg
35220 X A SRTWE 5 2,013 389 378 378 | BN 5kg
35300 E—X 3 3,510 1,404 1,404 1,404 B5W 3kg
35303° AF v TEZIAL S 13 3, 694 540 216 54| B 13kg
Y3026 (Afy7 EXIEH (FE) 2 1,512 756 756 756 | BN 2kg
Y3115 |[EZAE S 3 605 216 216 216 | B 3kg
35400 FHED 1 259 324 324 324 | B 1kg
Y3033 | ZZHYAL 60 3,213 54 54 54 | BN 60kg
Y3037 KLIE 5 A 20 1,188 59 59 59 | B 20kg
36200 FEenE 85 16, 848 216 194 173 | B 85kg
36650 HEffloFhE 11 1,750 65 65 65 | &N 274
33410 H=—1L ¥ % 10 1,901 38 38 32| BH 524
33200 | HY TS5 T— 12 1,901 119 76 76 | BH 241
33300 Yuwval— 718 238 238 162 | BH 4kg
133300 Tmyal— 160 22 17 17| B fE
33303 AT 4wy rTavaly 13 4,730 86 65 65| B 634
38100 ZE LWz 1 1,188 1,188 1,188 1,188 | BN lkg
Y3017 &k Y 2 2, 700 1, 404 1, 404 1,296 | BH 2kg
Y3030 VEIEAE () 2 2, 808 1, 404 1,404 1,404 | BN 2kg
36340 & LN REE 5 540 108 108 108 | BN 5kg
30910 ST 4 v 2 97 32 32 32| &N 3H
41806 | 72 A A 142 11, 750 108 65 65| B 14248
41807 AA—hKATY 7 8 1,901 24 24 24 | BN 80
46108 T DA EE 49 58, 061 389 356 324 | B 1633 7
71030 Ko &7 10, 341 167 54 32| BW 11574
71032 K&+ (FR) 2,138 54 43 36 | BN 5074
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a—F fn Eik | PER (kg) &4 (F) Sl il Sl PE M (BLAL)
53456 | 7= ARl 4 1, 296 324 324 324 BN 4kg
Y5004 &4 6 940 162 162 162 | B bkg
53101 1E L KR 1 1, 458 1,458 1, 458 1,458 | BH kg
Y3019 HoDY 5 10, 800 2,160 2, 160 2,160 | & 5kg
30100 |7V 2 A 2L 50 3,024 65 65 54 IR B 504 N
30200 | A5 L 12 907 24 24 22 | EIRE 404
30300 | AZ 2L 50 8,100 1, 620 1, 620 1,620 RS 5r—=R
30300 AZ B 100 5, 400 54 54 54 | S 100kg
31100 A 75 4,104 1, 080 648 648 | FEIR 5 —2A
33500 VT H I 1 54 11 11 11 | %& [ 54%
33810 | HAFEHE 4 1,188 59 59 22 | EIRE 2048
31700 |3 ¥~ 30 1, 296 432 432 432 |BIRE RY /s
31950 HAE L 18 5, 832 972 972. 972 |BIRE 64— A
31900 | Ha¥ 3, 672 216 216 216 |EIR 173K (500g)
31930  Zh¥ 1,782 59 59 59 | & 3048
34300 729 2L 10 2, 808 1, 404 1,404 1,404 |REA 24— A
34400 b=k 20 6, 480 1,296 1,296 1,296 |REA 54— A
34460 I =&k M 5 2,074 86 86 86 |EEIR B 248y 7
34100 #/K 31 6, 720 132 132 132 | ‘=i 5148
34100 | #A /I L 10 3, 240 1, 620 1,620 1,620 RS 24— R
34100 #HJL B 20 2,290 648 648 497 |EIR B 445
34100 | HAIK B L 10 2, 808 1, 404 1,404 1,404 | IR & 27— R
34200 R 20 3, 240 1,620 1,620 1,620 | =2—Y— 2/ —= |
7K
34500 B—< 20 7, 209 76 70 70 | EIR 10048
34520 RE—=> A |L 2 2,700| 2,700 2,700 2, 700|ZIG 14— 2
34571 (T YA GR) 2 1,188 119 119 119 | 8= 10{&
34572 TV A () 1,242 130 130 119 |8 E 10{&
36600 mFERE LK 40 4,968|  2,484| 2,484 2,484 | dL¥EE 2y —2
37200 | L X 92 2L 8 3,186 1,620 1,620 1,566 | 1 [E 24— R
33400 L& % 12 1,944 86 86 76 | B I 244
33600 /St Y 0 108 54 54 54 | 15 245 5
38100 |2 L\ =3 8 6912 86 86 86 | E I 805y s |
33100 7 AT H = 1 724 - 86 65 65| AFT = 103
31310 A3 4 1,296 65 65 65 BEIRE 2048
31500 /MRAZE 12 4,536 76 76 76| BEIRE 604%
36340 T L NZHEZE 20 1,620 108 54 54 | IR 20kg
36340 T LNREIFE 2L 20 9,072 2, 268 2,268 2,268 |HEIR 44— A
37560 Bk 1 2, 646 378 324 324 | K%y 8Ny
38400 X DEH 5 1,944 1,944 1,944 1,944 | Elt 14—
38400 % D XFE 10 3, 402 38 38 30| ERE 10048
38521 SR L®UHE 3 3, 240 108 108 108 | & 3048
41806 |7 A A 15 3,494 1,512 1,512 470 | IR B 34—
41410 LEY 15 10,260 10,260| 10,260 10,2607 AU H 17 —2R
Y4017 H 5T 9 1, 490 108 86 76 | £ 184%
46000 W5 T 4 2, 246 216 173 173 | 8E 1289 7
49100 NFF 120 16, 200 2,160 1,296 1,296 |7 4 U EY 10—
49200 SRA LT T 10 1, 620 270 270 270 | 7 4 U B 6{A
Y5006 IR (B4h) 120 35, 478 3,110 2, 840 2,840 EIRE 1247 —2R
Y5006 IR (B4h) 56 14,774 190 190 168 | RS 80/ 7
&t 1,841 412, 253




